AIZE J|® 7 Olap Ot I Off (2)

0] MY 2A}
(HM@S| / 214-534-7141)

AIES0| otH2t siLiEHS 71%A ol= &S d2E 27t O{EA sHOF Sk=7t? C47]04| ChsHA{ O)o]
JE2 SILIEHM FRE 7|tstA =X -E-'E'éﬁh_'_ SHa5HH ZISHFACH

HM=Z, SiLEHAM J[tstA= &2 olltgdl Sdok= &0ICt O[22 CHEHQ Q=0| HIZ 0=0
Ct Ol=2 “SiLiES 7|HAIA ok= A2t ok SHE ®|UALLE(S] 11:5)1 SIRA=L 27t o €2
300 St oiLtEat SHSIRACE CA| LoHH stfgdt SdWsk= 20| SHtES 7[HAIA it

a2 Ofl-Hat SAlsHOF 22|7F OFX|9 mo| Sk Mgl 0lZ2 = UCL “X=|7t o2 Y= =0
MLt oE 2 TR FAIQ YL HAOAEZ KBS 0[7|4 EHoIQ £ 1o ot U= Xt
Z FEHS Y1 HjLHSE 0 TSt XS2 OP7IZZ0"(H 17:14) 27t =Edt 2H AS
sk Mgl oZict. ol=Eat M A=C= L2 Oi=H ZoT JiRts] A=CHEX], Ol=EHA
| stiCh= AMdE OX] 27[T sith= XO| ofLzf, ANz JFa WSty Sl o H&
IME =9 X2t HES Ot X0l »SS 7K dddet Xt &|0joF sith= oI

Jp> oo 2
gs

()II

O[EA Ol-Hat Slot= X7t S MSUA 0lZ £ UL SHLEHHA 7lwshect. “LH7F Mg 22
TR Ysiet 2 ot A2t (O 28:20)= GlHel EES UXl A5 2o FI2=T =X
T, HHZE JFA &M St Gl+-EHit SHoHH, 122 Y= LSS Soll S20 uXN=C=E
SILIEHIM 7|HstAl= 2217t £|0f0F SHX| R=7H

SMZ, 227t stLieel B0 =5 o sltaMA 7Iwstict of TI8sial= sitgel BES A

ot SiLIEM MAEERZ] flsHM HAE ALZS30IA AR ’.‘JIII} Sofl SiLIEHA skl =0l

‘='°1°|7I'? ‘Ci2obHM HEet CHE MAME 1 S48 =Fcks AS EO0tek Z0| FO0totAIALI07t
Z0| HAECH R S5 20| £49| 7|EHLT LIOoL]"(A4 15:22)

74 S=SOA ACIM HALLZ et A0 oL AR=71? Ml I MAEDE S28 H0| of
Ligel &S0 =&oks oIt StLEH2 MAIEOE =55 O 7(#stiCt DRE7IX|IZ2 227t stfe
2 Obisks AMUF st A0| o] AW=71? J3H DARBOE O S8 A2 siLiEel LS
=5ol= oIt OFE] MALE OHiE HYS Cloll Zde AS Edk silfgel d0 ==Sold,
oiLigel HES HHsl= AS siLE2 7IHstAX] =Lt

J8H &30| MAHECH WX AL Gifui7t ZQX| §UCH= 20| OILICL SHLIE2 T HEe=E &
olE 2%t MARt ASet & ’MAE J[#stiCt “ oo FHM 222 MAteh HEeE 2Tet Hi
£ 7IHSIAZIL (Al 51:19)2t1 Sl “IH8] &S oStt=0| 7|Hsth=E AFe & HMAIZ =22} 0]
= YHsale] E2 FH oL (F 12:1) HSESHALC

SHLIEHIA 7|H13MIE OltiS =2l=® UM WAooz JISE LIS X S5A7 SHY o7t &
E5 ofiof oic}. 22 EE|= e, o= EEI“ 712t T, Ol=gHAM oA sk EE0|l &
0|2 ¥3H((R 663) a3 TES Holal E= A, 00| SiLIEAIM 7]H HOA|= GfH{OIC.



FY ot AlZE oiER| e LIHX] QM= W OFSOE Ab= AO0| ofuzf, DNl 40| SHAEMHA 7|t
UOA= OHHE E2l= Xt 22 &, fele S 22 =17t OfUE} 2o =512 ARZs|l, st
o MstAl 7|HstA| 2 2Hsk XS O|F=O ALESHHM EZl= Oiuf7t SILEEAIM 718 JA=
ASe & HAL2, X ofHjolct. 0]Zi0] HtZ OFA0] =2 ofHiRy, 117t £ M=T stLtaMA 7
B ®edl 0] ofL2t, OMME FHSHMCHE 4:4; 5| 11:4). MM 2= Y Oj=Zt SiLiELL
SASHH 19| L0 =Bk 42 1, 18 X=EM SHLEHS ouigtez SHLiEMM 7S =
K17t EI0{0F oFX|] 2A=7H



